

Purchasing: (916)568-3071 \* FAX (916) 568-3145 LRCCDpurchase@losrios.edu

Accounting Ops: (916)568-3065 \* FAX (916) 286-3636 Acctg-ops@losrios.edu

PLEASE SEE TERMS AND CONDITIONS APPENDED TO THIS PO

Supplier: 0000006424 AMAZON.COM BILLING DEPARTMENT P O BOX 80463 SEATTLE WA 98108

email:

# ate Revision Page

**PURCHASE ORDER NO 0001118026** 

Date	Revision	Page
10/01/202	1	1
Payment Te	rms Freight Terms	Ship Via
NET 30	Shipping Point	Best Method
Reference:		Location / Dept
1032654 WA	ALLACEI ROUILLERS	04FLC VAPA

Ship To: FOLSOM LAKE COLLEGE

**RECEIVING** 

10 COLLEGE PARKWAY FOLSOM CA 95630-6798

**United States** 

Bill To: LRCCD

Invoice to: acctg-ops@losrios.edu

1919 Spanos Court Sacramento CA 95825-3981

**United States** 

#### VOUCHER#\_00610946;00611117;00610951;00610942

Tax Exempt? N					
Line-Sch	Item/Description	Quantity UOM	PO Price	Extended Amt	Due Date
1- 1 REC 0001098389	ONE 25" LONG SILK ARTIFICIAL BOSTON FERN BUSH W/A 40" SPREAD FROM TIP TO TIP WHEN SPREAD OUT FROM THE MIDDLE 48 BRANCHES	10.00EA	43.99	439.90	10/15/2021
2- 1 REC	ZUVAS 24 PCS 148 FT VINES-FAKE VINES LEAVES, ARTIFICIAL IVY GARLAND, HANGING VINES-VINE PLANTS W/CABLE TIE-FAKE IVY FOR WEDDING PARTY GARDEN GREENERY DECOR OUTDOOR INDOOR WALL DECORATION	30.00EA	15.98	479.40	10/15/2021
3- 1 REC	CEWOR 4PCS ARTIFICIAL CHERRY BLOSSOM FLOWER VINES HANGING SILK FLOWERS GARLAND FOR WEDDING PARTY HOME DECOR JAPANESE KAWAII DECOR SOLD BY: CEWOR	30.00EA	15.99	479.70	10/15/2021
4- 1 REC	27" ARTIFICIAL PLANTS ONION GRASS GREENERY FAUX FAKE SHRUBS PLANT FLOWERS WHEAT GRASS FOR HOUSE HOME INDOOR OUTDOOR OFFICE ROOM GARDENING INDOOR DECOR 6 PACK	30.00EA	36.99	1,109.70	10/15/2021
<sup>5- 1</sup> REC	CEWOR 36PCS 236FT ARTIFICIAL VINES FOR ROOM DECOR FAKE IVY GARLAND ARTIFICIAL IVY LEAVES HANGING VINE PLANT FOR WALL DECOR INDOOR OUTDOOR DECOR	50.00EA	17.99	899.50	10/15/2021
6- 1 REC	ARTBLOOM 24 BUNDLES OUTDOOR ARTIFICIAL FLOWERS UV RESISTANT FAKE BOXWOOD PLANTS, FAUX GREENERY FOR INDOOR OUTSIDE HANGING PLANTS GARDEN PORCH WINDOW BOX HOME WEDDING FARMHOUSE DECOR (WHITE)	1.00EA	38.99	38.99	10/15/2021

As per people soft all items except line 11 was received. as of 10.20.21

All shipments, invoices, and correspondence must be identified with our Purchase Order Number. Overshipments will not be accepted unless authorized by Buyer prior to shipment.

Authorized Signature
AUTHORIZED SIGNATURE ON
PO TOTAL PAGE

Purchasing: (916)568-3071 \* FAX (916) 568-3145 LRCCDpurchase@losrios.edu

Accounting Ops: (916)568-3065 \* FAX (916) 286-3636 Acctg-ops@losrios.edu

PLEASE SEE TERMS AND CONDITIONS APPENDED TO THIS PO

Supplier: 0000006424 AMAZON.COM BILLING DEPARTMENT P O BOX 80463 SEATTLE WA 98108

email:

#### **PURCHASE ORDER NO 0001118026**

Date	Revision	Page
10/01/2021		2
Payment Terr	ms Freight Terms	Ship Via
NET 30	Shipping Point	Best Method
Reference:		Location / Dept
1032654 WAL	LACEI ROUILLERS	04FLC VAPA

Ship To: FOLSOM LAKE COLLEGE

**RECEIVING** 

10 COLLEGE PARKWAY FOLSOM CA 95630-6798

**United States** 

Bill To: LRCCD

Invoice to: acctg-ops@losrios.edu

1919 Spanos Court

Sacramento CA 95825-3981

**United States** 

Tax Exempt? N

Line-Sch	Item/Description	Quantity UOM	PO Price	Extended Amt	Due Date
7- 1 REC	DEARHOUSE 24 PACK 168FT ARTIFICIAL IVY VINE GREENERY GARLANDS FAKE PLANTS HANGING GARLAND FAKE VINE LEAVES HOME KITCHEN GARDEN OFFICE WEDDING WALL DECORRDEN OFFICE WEDDING WALL DECOR	35.00EA	17.99	629.65	10/15/202
8- 1 <b>REC</b>	SOLD BY: DEARHOUSE  ARTBLOOM 24 BUNDLES OUTDOOR ARTIFICIAL FLOWERS UV RESISTANT FAKE BOXWOOD PLANTS, FAUX GREENERY FOR INDOOR OUTSIDE HANGING PLANTS GARDEN PORCH WINDOW BOX HOME WEDDING FARMHOUSE DECOR (PURPLE)	1.00EA	38.99	38.99	10/15/202
9- 1 <b>REC</b>	12 BUNDLES ARTIFICIAL GRASSES OUTDOOR UV RESISTATNT FAKE GRASS NO FADE FAUX PLASTIC PLANTS GARDEN WINDOW BOX DECORATING	1.00EA	17.79	17.79	10/15/202
10- 1 REC	ARTIFICIAL HANGING PLANTS FERN PERSIAN RATTAN GREENERY VINES BOSTON FAKE PLANT IVY VINE OUTDOOR FAUX PLANTS INDOOR UV RESISTANT PLASTIC PLANTS VINES INDOOR HANGING BASKETS WEDDING PARTY DECOR	30.00EA	12.95	388.50	10/15/202
11- 1 REC 0001098645	ZISUN 12 BUNDLES OUTDOOR ARTIFICIAL FLOWER UV RESISTANT NO FADE FAKE FLOWER FAUX PLASTIC PLANTS FOR INDOOR OUTSIDE HANGING PLANTS GARDEN PORCH WINDOW BOX DECORATING (YELLOW)	1.00EA	16.99	16.99	10/15/202
12- 1 REC	CEWOR 24 PACK 173 FAKE VINES FOR HANGING DECOR ARTIFICIAL GREENERY GARLAND FAKE LEAF VINES HAGING PLANTS GREENERY WALL BACKDROP FOR HOME BEDROOM WEDDING DECORATION JUNGLE THEME PARTY SUPPLIES	1.00EA	16.99	16.99	10/15/202

All shipments, invoices, and correspondence must be identified with our Purchase Order Number. Overshipments will not be accepted unless authorized by Buyer prior to shipment. Authorized Signature
AUTHORIZED SIGNATURE ON
PO TOTAL PAGE

Purchasing: (916)568-3071 \* FAX (916) 568-3145 LRCCDpurchase@losrios.edu

Accounting Ops: (916)568-3065 \* FAX (916) 286-3636 Acctg-ops@losrios.edu

PLEASE SEE TERMS AND CONDITIONS APPENDED TO THIS PO

Supplier: 0000006424 AMAZON.COM BILLING DEPARTMENT P O BOX 80463 SEATTLE WA 98108

email:

#### **PURCHASE ORDER NO 0001118026**

Date	Revision	Page
10/01/202	1	3
Payment Te	erms Freight Terms	Ship Via
NET 30	Shipping Point	Best Method
Reference:		Location / Dept
1032654 W	ALLACEI ROUILLERS	04FLC VAPA

Ship To: FOLSOM LAKE COLLEGE

**RECEIVING** 

10 COLLEGE PARKWAY FOLSOM CA 95630-6798

**United States** 

Bill To: LRCCD

Invoice to: acctg-ops@losrios.edu

1919 Spanos Court

Sacramento CA 95825-3981

**United States** 

Tax Exempt? N

Line-Sch	Item/Description	Quantity UOM	PO Price	Extended Amt	Due Date
13- 1 REC	URSTOUD 6 BUNDLES ARTIFICIAL DAFFODILS FLOWERS, FAKE ARTIFICIAL GREENERY UV RESISTANT NO FADE FAUX FLASTIC PLANTS FOR WEEDING BRIDE BOUQUET INDOOR OUTDOOR HOME GARDEN KITCHEN OFFICE TABLE VASE (PINK)	2.00 EA	8.79	17.58	10/15/2021
14- 1 REC	GPARK 12 PIECES WISTERIA ARTIFICIAL FLOWER 45" BUSHY SILK VINE RATTA HANGING GARLAND HANGING FOR WEDDING PARTY GARDEN OUTDOOR GREENERY OFFICE WALL DECORATION MILK WHITE	30.00EA	28.49	854.70	10/15/2021
15- 1 REC	CEWOR 24 PACK 173 FAKE VINES FOR HANGING DECOR ARTIFICIAL GREENERY GARLAND FAKE LEAF VINES HAGING PLANTS GREENERY WALL BACKDROP FOR HOME BEDROOM WEDDING DECORATION JUNGLE THEME PARTY SUPPLIES	24.00EA	17.99	431.76	10/15/2021
	SOLD BY: CEWOR				
16- 1	PROMOTION DISCOUNT UNDER ORDER 114-2759154-9648254	1.00EA	-23.97	-23.97	10/15/2021

ORDERS PLACED 10-01-21 - SR PAID

114-2759154-9648254 114-2600004-6098649 114-8810177-8174608 114-1214572-7897006 114-2103897-9639459

**CHECK #:** 0094819908

**DATE:** 10/27/21

**AMOUNT \$:** 6288.47

**VOUCHER #:** 00610942, 00610951, 00611117, 00610946

All shipments, invoices, and correspondence must be identified with our Purchase Order Number. Overshipments will not be accepted unless authorized by Buyer prior to shipment. Authorized Signature AUTHORIZED SIGNATURE ON PO TOTAL PAGE

Purchasing: (916)568-3071 \* FAX (916) 568-3145 LRCCDpurchase@losrios.edu

Accounting Ops: (916)568-3065 \* FAX (916) 286-3636 Acctg-ops@losrios.edu

PLEASE SEE TERMS AND CONDITIONS APPENDED TO THIS PO

Supplier: 0000006424 AMAZON.COM BILLING DEPARTMENT P O BOX 80463 SEATTLE WA 98108

email:

#### **PURCHASE ORDER NO 0001118026**

Date	Revision	Page
10/01/2021		4
Payment Ter	ms Freight Terms	Ship Via
NET 30	Shipping Point	Best Method
Reference:		Location / Dept
1032654 WAI	LACEI ROUILLERS	04FLC VAPA

Ship To: FOLSOM LAKE COLLEGE

**RECEIVING** 

10 COLLEGE PARKWAY FOLSOM CA 95630-6798

**United States** 

Bill To: LRCCD

Invoice to: acctg-ops@losrios.edu

1919 Spanos Court

Sacramento CA 95825-3981

**United States** 

Tax Exempt? N

Line-Sch Item/Description Quantity UOM PO Price Extended Amt Due Date

Sub Total Amount Sales Tax Amount Total PO Amount 5,836.17 452.30 6,288.47

 BU
 Acct
 Fd
 Org
 Prog
 Sub
 Proj
 Amount
 BYear

 GENFD
 4300
 12
 FL.VI.SWPA
 10060
 00000
 485Y
 6,288.47
 2022

0001032654CHAVEZA30-SEP-2021

Verification of this purchase order can be made using the Los Rios Community College District web site listed below. If you have any questions, please contact the Purchasing Office at (916)568-3071.

http://www.losrios.edu/purchasing/povalidation

All shipments, invoices, and correspondence must be identified with our Purchase Order Number. Overshipments will not be accepted unless authorized by Buyer prior to shipment.

Authorized Signature

## Requisition

Supplier: AMAZON.COM BILLING DEPARTMENT P O BOX 80463 SEATH OF WAY 98108 **United States** 

email:

Ship To:

RECEIVING 10 COLLEGE PARKWAY FOLSOM CA 95630-6798

0000006424

OPEN Business Unit: GENFD Req ID: Date Page 0001032654 09/27/2021 Requisition Name: AMAZON - TA - WALLACE Requester Ian Wallace Requester Signature

Buyer: Brenda Haney

Approved:

Entered By: QUINTELM 27-SEP-2021

Line-Schd	Description	Quanti	ty UOM	Price	Extended Amt Due Date
1-1	ONE 25" LONG SILK ARTIFICIAL BOSTON FERN BUSH W/A 40" SPREAD FROM TIP TO TIP WHEN SPREAD OUT FROM THE MIDDLE 48 BRANCHES	10	EA	43.99	439.90 10/06/2021
2-1	ZUVAS 24 PCS 148 FT VINES-FAKE VINES LEAVES, ARTIFICIAL IVY GARLAND, HANGING VINES-VINE PLANTS W/CABLE TIE-FAKE IVY FOR WEDDING PARTY GARDEN GREENERY DECOR OUTDOOR INDOOR WALL DECORATION	30	EA	15.98	479.40 10/06/2021
3-1	CEWOR 4PCS ARTIFICIAL CHERRY BLOSSOM FLOWER VINES HANGING SILK FLOWERS GARLAND FOR WEDDING PARTY HOME DECOR JAPANESE KAWAII DECOR SOLD BY: CEWOR	30	EA	15.99	479.70 10/06/2021
4-1	27" ARTIFICIAL PLANTS ONION GRASS GREENERY FAUX FAKE SHRUBS PLANT FLOWERS WHEAT GRASS FOR HOUSE HOME INDOOR OUTDOOR OFFICE ROOM GARDENING INDOOR DECOR 6 PACK	30	EA	36.99	1,109.70 10/06/2021
5-1	CEWOR 36PCS 236FT ARTIFICIAL VINES FOR ROOM DECOR FAKE IVY GARLAND ARTIFICIAL IVY LEAVES HANGING VINE PLANT FOR WALL DECOR INDOOR OUTDOOR DECOR	50	EA	17.99	899.50 <b>10/06/2021</b>
6-1	ARTBLOOM 24 BUNDLES OUTDOOR ARTIFICIAL FLOWERS UV RESISTANT FAKE BOXWOOD PLANTS, FAUX GREENERY FOR INDOOR OUTSIDE HANGING PLANTS GARDEN PORCH WINDOW BOX HOME WEDDING FARMHOUSE DECOR (WHITE)	1	EA	38.99	38.99 <b>10/06/2021</b>
7-1	DEARHOUSE 24 PACK 168FT ARTIFICIAL IVY VINE GREENERY GARLANDS FAKE PLANTS HANGING GARLAND FAKE VINE LEAVES HOME KITCHEN GARDEN OFFICE WEDDING WALL DECORRDEN OFFICE WEDDING WALL DECOR	35	EA	17.99	629 . 65 10/06/2021
	SOLD BY: DEARHOUSE				
8-1	ARTBLOOM 24 BUNDLES OUTDOOR ARTIFICIAL FLOWERS UV RESISTANT FAKE BOXWOOD PLANTS, FAUX GREENERY FOR INDOOR OUTSIDE HANGING PLANTS GARDEN PORCH WINDOW BOX HOME WEDDING FARMHOUSE DECOR (PURPLE)	1	EA	38.99	38.99 10/06/2021
9-1	12 BUNDLES ARTIFICIAL GRASSES OUTDOOR UV RESISTATNT FAKE GRASS NO FADE FAUX PLASTIC PLANTS GARDEN WINDOW BOX DECORATING	1	EA	17.79	17.79 10/06/2021

Approval Signature	Approval Signature	Approval Signature

## Requisition

Supplier: AMAZON.COM BILLING DEPARTMENT P O BOX 80463 SEATTLE WA 98108 **United States** 

email:

Ship To:

RECEIVING 10 COLLEGE PARKWAY FOLSOM CA 95630-6798

0000006424

OPEN Business Unit: GENFD Req ID: Date Page 0001032654 09/27/2021 2 Requisition Name: AMAZON - TA - WALLACE Bldg# Requester Ian Wallace VAPA Requester Signature

Buyer: Brenda Haney

Approved:

Entered By: QUINTELM 27-SEP-2021

Line-Schd	Description	Quanti	ty UOM	Price	Extended Amt Due Date
10-1	ARTIFICIAL HANGING PLANTS FERN PERSIAN RATTAN GREENERY VINES BOSTON FAKE PLANT IVY VINE OUTDOOR FAUX PLANTS INDOOR UV RESISTANT PLASTIC PLANTS VINES INDOOR HANGING BASKETS WEDDING PARTY DECOR	30	EA	12.95	388.50 <b>10/06/2021</b>
11-1	ZISUN 12 BUNDLES OUTDOOR ARTIFICIAL FLOWER UV RESISTANT NO FADE FAKE FLOWER FAUX PLASTIC PLANTS FOR INDOOR OUTSIDE HANGING PLANTS GARDEN PORCH WINDOW BOX DECORATING (YELLOW)	1	EA	16.99	16.99 10/06/2021
12-1	CEWOR 24 PACK 173 FAKE VINES FOR HANGING DECOR ARTIFICIAL GREENERY GARLAND FAKE LEAF VINES HAGING PLANTS GREENERY WALL BACKDROP FOR HOME BEDROOM WEDDING DECORATION JUNGLE THEME PARTY SUPPLIES	1	EA	16.99	16.99 10/06/2021
13-1	URSTOUD 6 BUNDLES ARTIFICIAL DAFFODILS FLOWERS, FAKE ARTIFICIAL GREENERY UV RESISTANT NO FADE FAUX FLASTIC PLANTS FOR WEEDING BRIDE BOUQUET INDOOR OUTDOOR HOME GARDEN KITCHEN OFFICE TABLE VASE (PINK)	2	EA	8.79	17.58 10/06/2021
14-1	GPARK 12 PIECES WISTERIA ARTIFICIAL FLOWER 45" BUSHY SILK VINE RATTA HANGING GARLAND HANGING FOR WEDDING PARTY GARDEN OUTDOOR GREENERY OFFICE WALL DECORATION MILK WHITE	30	EA	28.49	854.70 <b>10/06/2021</b>
15-1	CEWOR 24 PACK 173 FAKE VINES FOR HANGING DECOR ARTIFICIAL GREENERY GARLAND FAKE LEAF VINES HAGING PLANTS GREENERY WALL BACKDROP FOR HOME BEDROOM WEDDING DECORATION JUNGLE THEME PARTY SUPPLIES  SOLD BY: CEWOR	24	EA	17.99	431.76 10/06/2021
16-1	PROMOTION DISCOUNT UNDER ORDER 114-2759154-9648254	1	EA	-23.97	-23.97 10/06/2021

Approval Signature	Approval Signature	Approval Signature

## Requisition

Supplier: AMAZON.COM

BILLING DEPARTMENT P O BOX 80463 SEATTLE WA 98108 **United States** 

email:

Ship To: **RECEIVING** 

10 COLLEGE PARKWAY

FOLSOM CA 95630-6798

0000006424

OPEN **Business Unit: GENFD** Req ID: Date Page 0001032654 09/27/2021 3 Requisition Name: AMAZON - TA - WALLACE Requester Bldg# VAPA Ian Wallace Requester Signature

Buyer: Brenda Haney

Approved:

Entered By: QUINTELM 27-SEP-2021

Line-Schd Description Quantity UOM Price Extended Amt Due Date

Sub-total

452.30 Est. tax

6,288.47 **Total Requisition Amount:** 

ORDER 114-2600004-6098649

ORDER 1148810177-8174608

ORDER# 114-1214572-7897006

ORDER# 114-2103897-9639459

ORDER# 114-2759154-9648254

Prog <u>Proj</u> **Amount** FL.VI.SWPA 10060 00000 5,836.17 GENFD 4300 12 485Y

Purchases Charged to Catagorical Programs, Grants or Special Project.

Program Name: SWP - local Technical Theater

Project Grant: 485Y

Program Director: VICTORIA MARYATT

Program Goal: objective - other (increase student skill attainment; SSM completion

Approval Signature	Approval Signature	Approval Signaty, 1936.17



#### **Details for Order #114-8810177-8174608**

Print this page for your records.

Paid By: LOS RIOS CCD Placed By: Melonie Quintell

Order Placed: September 28, 2021

**Amazon.com order number:** 114-8810177-8174608

Order Total: \$18.31

#### **Business order information**

Location: Folsom Lake College Receiving

Requisition number: 1032654

## **Not Yet Shipped**

Items Ordered Price

1 of: ZISUN 12 Bundles Outdoor Artificial Flowers UV Resistant No Fade Fake Flowers Faux Plastic Plants for Indoor Outside Hanging Plants Garden Porch Window Box

Decorating(Yellow)

Sold by: BeiJingQiTongGuoJiMaoYiYouXianGongSi 0 (seller profile)

Condition: New

#### **Shipping Address:**

FOLSOM LAKE COLLEGE - RECEIVING 10 COLLEGE PKWY FOLSOM, CA 95630-6798 United States

#### **Shipping Speed:**

Standard Shipping

## **Payment information**

Payment Method: Item(s) Subtotal: \$16.99

Shipping & Handling: \$0.00

----

\$16.99

Total before tax: \$16.99

Estimated tax to be collected: \$1.32

----

Grand Total: \$18.31

To view the status of your order, return to <u>Order Summary</u>.



#### Details for Order #114-2600004-6098649

Print this page for your records.

Paid By: LOS RIOS CCD Placed By: Melonie Quintell

Order Placed: September 28, 2021

Amazon.com order number: 114-2600004-6098649

Order Total: \$418.50

#### **Business order information**

Location: Folsom Lake College Receiving

Requisition number: 1032654

### **Not Yet Shipped**

Items Ordered Price

30 of: Artificial Hanging Plants Fern Persian Rattan Greenery Vines Boston Fake Plant Ivy \$12.95 Vine Outdoor Faux Plants Indoor UV Resistant Plastic Plants Vines Indoor Hanging

Baskets Wedding Party Decor

Sold by: Aobear (seller profile)

Condition: New

#### **Shipping Address:**

FOLSOM LAKE COLLEGE - RECEIVING 10 COLLEGE PKWY FOLSOM, CA 95630-6798 United States

#### **Shipping Speed:**

Consolidated Shipping in fewest deliveries

#### **Payment information**

Payment Method: Item(s) Subtotal: \$388.50

Shipping & Handling: \$0.00

----

Total before tax: \$388.50

Estimated tax to be collected: \$30.00

----

**Grand Total: \$418.50** 

To view the status of your order, return to <u>Order Summary</u>.



#### Details for Order #114-2759154-9648254

Paid By: LOS RIOS CCD Placed By: Melonie Quintell Order Placed: September 28, 2021

Amazon.com order number: 114-2759154-9648254

Order Total: \$6,056.87

#### **Business order information**

Location: Folsom Lake College Receiving

Requisition number: 1032654

Not Yet Shipped	
Items Ordered 30 of: GPARK 12 Pieces Wisteria Artificial Flower 45 inch Bushy Silk Vine Ratta Hanging Garland Hanging for Wedding Party Garden Outdoor Greenery Office Wall Decoration Milk White Sold by: LALAER (seller profile) Business Price Condition: New	<b>Price</b> \$28.49
70 of: OIAFFE 24pcs 158 Feet Fake Ivy Leaves Fake Vines Artificial Ivy, Silk Ivy Garland Greenery Artificial Hanging Plants for Wedding Wall Decor, Party Room Decor Sold by: orrhomi (seller profile) Condition: New	\$17.88
1 of: CEWOR 24 Pack 173ft Fake Vines for Hanging Decor Artificial Greenery Garland Fake Leaf Vines Hanging Plants Greenery Wall Backdrop for Home Bedroom Wedding Decoration Jungle Theme Party Supplies Sold by: CEWOR (seller profile) Condition: New	\$16.99
30 of: CEWOR 4pcs Artificial Cherry Blossom Flower Vines Hanging Silk Flowers Garland for Wedding Party Home Decor Japanese Kawaii Decor Sold by: CEWOR (seller profile) Condition: New	\$15.99
2 of: URSTOUD 6 Bundles Artificial Daffodils Flowers, Fake Artificial Greenery UV Resistant No Fade Faux Plastic Plants for Wedding Bridle Bouquet Indoor Outdoor Home Garden Kitchen Office Table Vase (Pink) Sold by: URSTOUD Direct (seller profile) Condition: New	\$8.79
50 of: CEWOR 36pcs 236Ft Artificial Vines for Room Decor Fake Ivy Garland Artificial Ivy Leaves Hanging Vine Plant for Wall Decor Indoor Outdoor Decor Sold by: CEWOR (seller profile) Business Price Condition: New	\$17.99
1 of: 12 Bundles Artificial Grasses Outdoor UV Resistant Fake Grass No Fade Faux Plastic Plants Garden Window Box Decorating(Green Grass) Sold by: ZiMeng (seller profile) Condition: New	\$17.79
1 of: ArtBloom 24 Bundles Outdoor Artificial Flowers UV Resistant Fake Boxwood Plants, Faux Greenery for Indoor Outside	\$38.99

Hanging Plants Garden Porch Window Box Home Wedding Farmhouse Décor (Purple)

Sold by: ArtBloom (seller profile)

Condition: New

1 of: ArtBloom 24 Bundles Outdoor Artificial Flowers UV Resistant Fake Boxwood Plants, Faux Greenery for Indoor Outside

\$38.99

Hanging Plants Garden Porch Window Box Home Wedding Farmhouse Décor (Milk Green)

Sold by: ArtBloom (seller profile)

Condition: New

30 of: 27" Artificial Plants Onion Grass Greenery Faux Fake Shrubs Plant Flowers Wheat Grass for House Home Indoor Outdoor

\$36.99

Office Room Gardening Indoor Décor 6 Pack

Sold by: Beebel (seller profile)

Condition: New

30 of: Zuvas 24 Pcs 148 Ft Vines - Fake Vines Leaves, Artificial Ivy Garland, Hanging Vines - Vine Plants with Cable Tie - Fake Ivy

\$15.98

for Wedding Party Garden Greenery Decor Outdoor Indoor Wall Decoration

Sold by: Zuvas (seller profile)

Condition: New

10 of: One 25 Inch Long Silk Artificial Boston Fern Bush with a 40 Inch Spread from Tip to Tip When Spread Out from The Middle.

\$43.99

48 Branches

Sold by: Richards Expo (seller profile)

Condition: New

#### **Shipping Address:**

FOLSOM LAKE COLLEGE - RECEIVING 10 COLLEGE PKWY FOLSOM, CA 95630-6798 **United States** 

## **Shipping Speed:**

Two-Day Shipping

#### **Payment information**

**Payment Method:** Item(s) Subtotal: \$5,644.84

Pay by invoice Shipping & Handling: \$0.00

Promotion applied: -\$23.97

Total before tax: \$5,620.87 **Estimated Tax:** \$436.00

Grand Total: \$6,056.87

To view the status of your order, return to Order Summary.

Conditions of Use | Privacy Notice © 1996-2020, Amazon.com, Inc.



#### Details for Order #114-2103897-9639459

Print this page for your records.

Paid By: LOS RIOS CCD Placed By: Melonie Quintell

Order Placed: September 29, 2021

Amazon.com order number: 114-2103897-9639459

Order Total: \$465.12

#### **Business order information**

Location: Folsom Lake College Receiving

Requisition number: 1032654

## **Not Yet Shipped**

Items Ordered Price

24 of: CEWOR 24 Pack 173ft Fake Vines for Hanging Decor Artificial Greenery Garland Fake Leaf Vines Hanging Plants Greenery Wall Backdrop for Home Bedroom Wedding

Decoration Jungle Theme Party Supplies

Sold by: CEWOR (seller profile)

Condition: New

#### **Shipping Address:**

Ian Wallace 10 COLLEGE PKWY FOLSOM, CA 95630-6798 United States

#### **Shipping Speed:**

Amazon Day Delivery

## **Payment information**

Payment Method: Item(s) Subtotal: \$431.76

Shipping & Handling: \$0.00

----

\$17.99

Total before tax: \$431.76

Estimated tax to be collected: \$33.36

----

**Grand Total: \$465.12** 

To view the status of your order, return to Order Summary.



#### Details for Order #114-1214572-7897006

Print this page for your records.

Paid By: LOS RIOS CCD Placed By: Melonie Quintell

Order Placed: September 29, 2021

**Amazon.com order number:** 114-1214572-7897006

Order Total: \$678.30

#### **Business order information**

Location: Folsom Lake College Receiving

Requisition number: 1032654

## **Not Yet Shipped**

Items Ordered Price

35 of: DearHouse 24 Pack 168Ft Artificial Ivy Vine Greenery Garlands Fake Plants \$17.99 Hanging Garland Fake Vine Leaves Home Kitchen Garden Office Wedding Wall Decorrden

Office Wedding Wall Decor Sold by: dearhouse (seller profile)

Condition: New

#### **Shipping Address:**

Ian Wallace 10 COLLEGE PKWY FOLSOM, CA 95630-6798 United States

**Shipping Speed:** 

Amazon Day Delivery

## **Payment information**

Payment Method: Item(s) Subtotal: \$629.65

Shipping & Handling: \$0.00

----

Total before tax: \$629.65

Estimated tax to be collected: \$48.65

----

Grand Total: \$678.30

To view the status of your order, return to <u>Order Summary</u>.

\* AMAZON

Po# 000 1118 026 RCVR# 000 109 8456

10/11/21 Babu

amazon.com



Purchase Order #: 0001118026 Order of September 28, 2021

Qty. Item

10

Artificial Hanging Plants Fern Persian Rattan Greenery Vines Boston Fake Plant Ivy Vine Outdoor Faux Plants Indoor UV Re... Kitchen

X00230RZ3V

AO-BOSI-2PGE (Sold by Aobear)

Return or replace your item Visit Amazon.com/returns

#### 

0/M43tmCY7Q/-10 of 10-//UPS-WHITN-T/std-us-consolidated/0/1006-13:00/1006-05:35 D5-296

amazon.com



Purchase Order #: 0001118026 Order of September 28, 2021

Qty.

Artificial Hanging Plants Fem Persian Rattan Greenery Vines Boston Fake Plant Ivy Vine Outdoor Faux Plants Indoor UV Re...

Kitchen X00230RZ3V

AO-BOSI-2PGE (Sold by Aobear)

Return or replace your item Visit Amazon.com/returns



0/MB3FmCY7Q/-10 of 10-//UPS-WHITN-T/std-us-consolidated/0/1006-13:00/1006-05:55 **D 5-29** 

# \* AMAZON

PCVP # 000 109 8512

10/14/21
Baha

- Lu#10 -> No packing List.

## \* AMAZON

PO#0001118026

PCVP #000 109 3645

10/27/21

Baha

LINE 11 REC

AS PER PS ALL OTHER LINES WERE REC 10/20/21. 10/29/21mkn

\* No Packing List